
43. Passamezzo commun Melchior Newsidler

ë
b
b
¢
d

d

¿
a
b
b
d

¢

b a
b

d
d

b
¢

a
a

b
b
¢
d

d
a b

a

d

a
b

b

a

d

d
d

¢

¿

b
d
d
b

b
d b

d
e d b

1)

b
d
[d]
b

b
d e

b
b
d

d

b
d
a ¢

5 ¿
a
b
b
d

¢
d

a
b
d

d

¢ a
d

b
d

a
b
d
d

b
¢
a

a ¢ e

¿

a
b

d
a

a
d b

¢
a
a
d
d

a
b
¢
d

a
b d

a
b
d

a

b a

¢
d

b
¢
d

a
b
d

d

¢ a

10

b
¢
d

b a
b

a

d
a
b

b

a

d

d
d

¢

π
b
b
d

b
d

b d e
b d b d e d b

e d b
b
b
d

b

b
b
b
d

d

b
b
d
a

b

b
d
a ¢

π
a
b
b
d

d
a b

d
a
b

d
d

b
¢

a
a

d
d

π

a
b
a
d

d
a

π

b
¢ a

d

a
a
¢
d

a

¿
d
a
a
¢

15 π
a
b
¢
d

d
a b d

a b a b d b a
d b a

b
b
¢
d

d
a

b
a

¢

b d

d

d

¢
d

b
d

a
b

d
d

b
¢

d
d

a
b

b
d

π
a
b
b
d

d
a b

d

b a

d

d b

g
d

d

f

π
f
b
d
b

d b
f

b d f d b
f d b

e d b

20
b
b
d

b

b d
d

e
b
b
d

d

b
b
d
a ¢

π
a
b
b
d

d
a b

b

d
d
e

d

f g
d
e
f

d

f
d
b
f

d
π
d
e d b

π/
d
d
d
a

∫
¢ d ¢ d ¢ a ¢

π
d
d
g

d

f g
d f g

d f d
g f d

g
d

g f d
d
d
f

d

g f
f

d
d
f

d

d

¢

b

a

25
a
b
¢
d

d
b

d
b
¢

d
d

a
b

b
d

π
a
b
b
d

d
a b

b a

d
d
e

d

g
d f d g f d

π
f
b
d
b

d b
f d b

e d b
d

b d e
b d

Teutsch Lautenbüch (1574), f.m3b.  Encoded and edited by Sarge Gerbode.

1) Note one course higher in orig. (lower case instead of upper case "A")
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4) Rhythm flag double value in orig.
3) 2 rhythm flags double value in orig.
2) "f" in orig.
1) Note indistinct in orig.
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4) "c" in orig. (overstrike missing)
3) Rhythm flag double value in orig.
2) Rhythm flag ½ value in orig.
1) "f" in orig.
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4) 2 rhythm flags double value in orig.
3) Note one course lower in orig.
2) "d" and "c" in orig. Overstrike missing.
1) For some reason, these notes are wrirtten twice in orig.


